_ Arithmetic Growth Assignment
@tate the common difference, then list the next three terms of each arithmetic sequence.
d

) 12,15,18.. (3) | d)31,21,11.. (-10)
Jal,Lb‘r,L‘-’f f,= —AF

b) 25,21,17.. (=4). e)-8,-5-2. C2)
13,9,5 P

¢ 27,37,47.. (10) 11823,28.. (0.5)
VL e L 2:%. 3.8, %3

@Here is a pattern of natural numbers in three rows. Assume that the pattern continues.

Row 1 1,4,7,10,13

Row 2 2,5,8,11, 14

Row 3 3,6,9, 12,15

a) What are the next five numbers in row 2?

PR 11,20,2)
b) In which row will the number 100 appear?
ow |
c) Describe a procedure you could use to determine in which list any given natural number appears. Test
your procedure with some examples.
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@ SUI’iTQfSS?: was deposited in a bank on Jan 1. A sum of $20 is deposited in the bank on the 12t day of
each month. Suppose this pattern continues. How much will be in the bank on Sept 1?

& wmonthQ PR+ 8(20) = {bZURD

4. The disappearance of the dinosaurs about 65 million years ago is one of the great mysteries of science.
Scientists have recently found that mass extinctions of Earth’s creatures are separated by periods of
roughly 26 million years.

a) About when did other mass extinctions occur?

A millisn yrs agp
b) Suppose the theory is\correct. Estimate when the mass extinction might occur.
w12 ullion }jﬂwﬂ&

Determine the indicated term of each arithmetic sequence.

a) i) 6,11,16 .. 7"term iv) 18, 15,12 ... 8™ term

21,1631 30) R+IC3)= -3

ii) 23,34,45 ... 10" term . v)45,37,29.. 9"term
L3+AUD = 12T 45 +8(-8)= -9

iii) 5,10,15.. 12%term vi)-10,-4,2 .. 10™term

S+I{5)=60 “10+9(6) =44
b) - Choose one sequence from part a. write to explain how you determined the term.
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6. The output of a northern gold mine has remained constant at 22,000 ounces per year. At the end of last
year, the total output of the mine was 90,000 ounces of gold.
a) What will the total output be at the end of this year? At the end of next year?

b) Draw a graph to show the total output of the mine for the next five years.

c) How would the graph change if the annual output is more than 22,000 ounces per year?

P _

[ 7. Complete each arithmetic sequence.

~a) iy X ,712, 1% , 22. iv) 50, £4S , L0, 35, 30.
i) 31, 25,2925 2| . vj-\9,8 2 12, 2L 3
ii)s, 13,21, 294, 37 . Covi)a3, 515 k"f‘,_’b?\iﬁ

b) choose one sequence from part a. write to explain how you determlne the missing terms.
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a}) Insert two numbers between 8 and 30, so the four numbers form an arithmetic sequence.

| 8.
il - F - By W T Sidann, oY 22/
b) Insert three numbers between 10 and 55, so the Tive ﬂUlllm:la nunl an arithmetic sequence.
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9. Determine the first five terms of each arithmetic sequence.

a) The 2" termis 14 and the 5" term is 23.
b) The 3™ term is 35 and the 7" term is 55.

c) The 5™ termis 4 and the 8" term is -2.



